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Public Economics 3

Summary notes: Black et al, Chapter 13

Taxes on goods and services

Learning objective

· Distinguish between different indirect taxes and indicate their relative importance as sources of revenue

· Discuss the merits of indirect taxation

· Describe the consumption type VAT applicable in South Africa

· Explain the economic effects of VAT

· Describe the personal consumption tax base

· Discuss the rationale for a personal consumption tax

· Discuss the shortcomings of a personal consumption tax base

13.1  Types of indirect taxes

Imposed on commodities or market transactions. Burden can be shifted to consumer.

Can be imposed at various stages of the production process

· Single-stage commodity tax

· Multi-stage commodity tax eg. VAT

Distinguish broad/general (VAT) from narrow/specific tax (specific excise duty)

Excise duties can be specific unit taxes or ad valorem taxes. Can be levied on domestically produced goods and on imports (customs duty or tariff).

See Table 13.1, p. 201. VAT most important consumption source in SA in 2004/05 (74% of total), followed by the excise tax on fuel (14.6% of total).

Specific unit excise duties on alcohol and cigarettes (known as sin/sumptuary taxes) provide more revenue (10% of total) than ad valorem excise duties on luxury products in SA (1% of total).

13.2  The merits of indirect taxes

Advantages:  

· Practical way of catching those with small incomes who don’t pay income taxes.

· Invisible. Less susceptible to tax resistance.

· Tax liability is determined by how much of the taxed good is consumed. Patterns of spending can change to avoid taxation (substitution may be possible in the case of specific taxes). 

· Consumption taxes can be used to achieve multiple objectives. Correct market failures eg. externalities (fuel levy and pollution; sumptuary taxes and alcohol and cigarette abuse), promote equity (taxes on luxury goods).

· Ad valorem approach - automatic inflation indexation. As price level increases, tax revenue increases.

· Simple to administer, consumers cannot evade

Disadvantages:

· Regressive according to ability to pay principle (consumption as % of income falls as incomes rise) - leads to zero-rating

· Sumptuary taxes hit poor very hard

· Indirect taxes, if selective, lead to inefficiencies

· may affect work/leisure choice if ‘luxuries’ taxed in developing countries

· smuggling/black markets

· Policy conflict (using one tool to achieve too many goals). Using equity as a justification for a high tax on luxuries means flouting the inverse elasticity rule (price and income elastic – low tax rates). Forces choice between equity and efficiency.

· May have inflationary effect if wages are raised in response to taxes.

13.3  Value-Added Tax

Multi-stage sales tax levied on value added at different stages of production.

Value added 

= value of sales – value of intermediate purchases 

= wages, rent, interest, depreciation, profit

SA uses consumption VAT base.

Treatment of imports (Z) and exports (X). Two principles:

· origin (T on X, none on Z)

· destination (T on Z, none on X)

SA follows destination – perceived as fair. Domestic and imported goods treated the same. Competitiveness of X not affected.

Tax liability is computed in SA via the tax credit (invoice) method.  (See Box 13.1, p. 204 for an example of VAT calculations.)

Two techniques to free goods and sectors from VAT

· outright exemption (no filing VAT returns – but also no VAT refunds on purchases), in SA ed. and health.

· zero-rating (zero tax paid but refunds obtained on purchases), in SA basic foodstuffs.

Single or multiple rates possible.  SA has single rate.

13.3.1  The economic effects of VAT

Revenue

Generates large revenues. In SA introduced in 1991 at 10%. Increased to 14% in 1993. In 1992/3 made up 21.7% of total tax revenue, in 2001/02 - 23%, and in 2004/05 – 28.8%.

Efficiency and tax rate

Efficiency analysis (Ch 10) leads to conclusion that low uniform rate on broad base is efficient (resembles lump-sum taxes).

Does efficiency require uniform rates? Highly debated.

No, in terms of the inverse elasticity rule. Excess burden of selective taxes is reduced to minimum by taxing price inelastic goods and services at higher rates.

In terms of equity as well a uniform tax is not desirable.

Optimal policy design restricted by data limitations:

· relevant elasticities not known

· administrative complexity of multi-rate system outweighs efficiency gains

One solution: lump together large categories of goods and services and subject to uniform ad valorem taxes.

Another: differentiated or uniform excises on luxury goods, and uniform VAT on the rest 

Broad view - uniform rate (or 3 or 4) applied to broadest base, case strengthened if income and exp. supports for poor are present to reduce inequality.

Equity

VAT without zero-rating undoubtedly regressive.

Tax relief for the poor through:

-exemptions

-zero-rating

Shortcomings: 

· Zero-rating erodes tax base necessitating a higher rate to make up revenue, also benefits wealthy

· Zero-rating leads to over-taxation of suppliers who cannot credit VAT paid at earlier stages, e.g. in informal sector

-Multiple rates (high on luxuries) administratively complex

Katz Commission recommended: no more zero-rating, no ‘luxury’ VAT (high admin costs and not much revenue potential), rather use targeted poverty relief and development programmes to reduce inequality.

Administration

· Effective against tax evasion

· Self-policing -  no incentive for buyers and sellers to collude to underpay tax because: 

· Sellers prefer to understate output tax

· But all buyers who are not final consumers want to overstate the input tax for tax credit purposes

· Basis for cross-checking automatically created as records of purchases and sales must be kept.

· Scope for false claims ( with ( in zero-rated items, or when multiple rates exist.

13.4  Personal consumption tax

An alternative to VAT which is regressive – is the personal consumption tax (expenditure tax).

Tax base = income – net saving (saving-dissaving).

Collected directly from consumer (like income tax) – can be made progressive with

· rate schedule

· exemptions on certain items eg medical exp

More complicated to assess than income tax or VAT, nonetheless much support from economists.

13.4.1  The rationale for a personal consumption tax

· More equitable to tax what individuals take out the economy (consumption) than what they contribute (income).

Millionaire miser example. Conflicts with ability-to-pay principle. Resolve by taking a life-time view of tax liability. 

· More efficient than income tax?

Income tax distorts the choice between present and future consumption, i.e. savings are affected and excess burden results. If consumption is taxed there is no excess burden because savings are not taxed.

If the supply of labour is not affected by a personal consumption tax, no excess burden results. But if the tax induces consumers to work less (because the returns to work are reduced) and enjoy more leisure - then there will be an excess burden. 

Also, because the consumption tax base is smaller than the income tax base, tax rates would have to be higher to yield the same revenue - higher rates lead to higher excess burden.

Net efficiency effect = eff gain (savings) – eff loss (excess burden)

Empirical evidence suggests overall consumption tax more efficient than income tax. 

· Also argued to be good for developing countries 

· shortage of savings

· progressive because exp highly unequally distributed

· Too complex to monitor? Argued that administrative problems could be tackled by banking system (cash flow in bank accounts).

13.4.2  The disadvantages of a consumption tax

Not done anywhere – experiments in India and Sri Lanka abandoned. Possible problems:

· Administrative – little known about potential problems.  Loss of easy withholding capacity (SITE and PAYE).  What replaces it?

· Difficult to distinguish consumption from investment.  E.g. housing, education. 

· How to measure consumption of goods and services in kind? (Similar problem on the income side.)

· How to treat gifts and bequests. Consumption by donor (spending by parent on child), or income of donee (tax on consumption only occurs when cash is spent)?

· Transition problems. Under income tax system, savings are from after-tax income. After intro of consumption tax, if previous savings used on consumption, double taxation will occur.





























































